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By solving with respect to Y(t), we obtain
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We now provide the explicit computations to derive the standard estimator R̂t(0)
given in (13) of the main text.

R̂t(0) =

6

∑
i=−7

Rt(i)(Y ∗ fC)(i)

6

∑
i=−7

(Y ∗ fC)(i)

=

Rt(0)
0

∑
i=−7

(Y ∗ fC)(i) +
6

∑
i=1

Rt(i)(Y ∗ fC)(i)± Rt(0)
6

∑
i=1

(Y ∗ fC)(i)

6

∑
i=−7

(Y ∗ fC)(i)

=

Rt(0)
6

∑
i=−7

(Y ∗ fC)(i) +
6

∑
i=1

Rt(i)(Y ∗ fC)(i)− Rt(0)
6

∑
i=1

(Y ∗ fC)(i)

6

∑
i=−7

(Y ∗ fC)(i)

= Rt(0) +

6

∑
i=1

[Rt(i)− Rt(0)](Y ∗ fC)(i)

6

∑
i=−7

(Y ∗ fC)(i)

= Rt(0) +

6

∑
i=1

[Rt(i)− Rt(0)]
Y(i)
Rt(i)

6

∑
i=−7

Y(i)
Rt(i)

. (13)

We derive here Equation (  12) of the main text. For any time t = 1, . . . , T, we get
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